Revision 4 – Intangible Assets (HKAS 38)
I.
Summary

1.1
Definition – is an identifiable (可辨認) non-monetary asset without physical substance. It can be held for use in the production or supply of goods or services, for rental to others, or for administrative purposes.
1.2
Identifiability, control and future economic benefits –
(a)
Separable assets will always meet the identifiable test although an asset does not have to be separable to be identifiable, i.e. able to dispose of the intangible asset without disposing of any other assets at the same time.
(b)
An enterprise must be able to control an asset before it is recognized on its statement of financial position. Control encompasses both the right to obtain future economic benefits from the underlying resource and the ability to restrict access to those benefits by others.

The following items should be excluded:

(i)
staff skills

(ii)
customer or supplier relationships

(iii)
customer loyalty

(iv)
staff training, etc.

1.3
Recognition –
(a)
it is probable that future economic benefits associated with the asset will flow to the entity; and

(b)
the cost of the asset can be measured reliably.

1.4
Internally generated goodwill shall not be recognized as an asset. It is because it is not an identifiable resource (i.e. it is not separable nor does it arise from contractual or other legal rights) controlled by the entity that can be measured reliably at cost.
1.5
HKAS 38 also prohibits the recognition of internally generated brands, mastheads (報頭), publishing titles and customer lists and similar items as intangible assets. It is because such expenditure cannot be distinguished from the cost of developing the business as a whole.

1.6
Costs relating to intangible assets that do not meet the recognition criteria should be expensed as incurred. Examples include:
(i)
research expenditure

(ii)
start-up costs (unless included in the cost of an item of PPE under HKAS 16)

(iii)
training costs

(iv)
advertising and promotional costs

(v)
business relocation costs

1.7
Initial measurement –
(a)
An intangible asset is initially recognized at cost: cost comprises purchase price (net of trade discounts) and any directly attributable expenditure in preparing the asset for its intended use.
(b)
If material costs have already been written off as expenses the earlier expenditure should not be retrospectively recognized as part of the cost of an intangible asset at a later date.

1.8
Measurement after recognition –
(a)
Cost model – carried at cost less any accumulated amortization and any accumulated impairment losses.

(b)
Revaluation model – carried at a revalued amount (being its fair value at the date of revaluation) less any subsequent accumulated amortization and any subsequent accumulated impairment losses.

1.9
Revaluation model can only be used if the fair value can be determined with reference to an active market for the intangible asset.
1.10
An active market – all the following conditions exist:
(a)
the items traded in the market are homogeneous;

(b)
willing buyers and sellers can normally be found at any time; and
(c)
prices are available to the public.

1.11
Revaluations should be made regularly so that the carrying amount does not materially differ from the fair value at the end of the reporting period.
1.12
If an intangible asset is revalued then all other intangible assets in that class where there is an active market should be revalued.

1.13
Useful life and amortization –
(a)
An entity shall assess whether the useful life of an intangible asset is finite or indefinite.

(b)
An intangible asset shall be regarded by the entity as having an indefinite useful life when, based on an analysis of all of the relevant factors, there is no foreseeable limit to the period over which the asset is expected to generate net cash inflows for the entity.
(c)
Finite useful life – amortization over expected useful life.

(d)
The residual value of such assets with finite useful lives is assumed to be zero unless there is either a commitment by a third party to purchase the asset at the end of its useful life or there is, and will remain, an active market in that type of asset.
(e)
Indefinite useful life – no amortization required. Need to be tested for impairment annually. Useful life of such asset should be reviewed each year.

1.14
Research – is original and planned investigation undertaken with the prospect of gaining new scientific or technical knowledge and understanding.

(研究係指企業經由有計畫地探索或嚴格地調查，而發現能夠促進新產品（或服務）或新技術（生產程序）之發展，或能夠為現有產品或技術帶來重大改進之新知識。)
Examples:

(i)
activities aimed at obtaining new knowledge;

(ii)
the search for, evaluation and final selection of, applications of research findings or other knowledge;

(iii)
the search for alternatives for materials, devices, products, processes, systems or services; and

(iv)
the formulation, design, evaluation and final selection of possible alternatives for new or improved materials, devices, products, processes, systems or devices.

1.15
Development – is the application of research findings or other knowledge to a plan or design for the production of new or substantially improved materials, devices, products, processes, systems or services prior to the commencement of commercial production or use.

(發展係指將研究結果轉化為新產品、新技術、新服務，或對現有產品、技術、服務有重大改進之具體計畫或設計。)
Examples:

(i)
the design, construction and testing of pre-production or pre-use prototypes and models;

(ii)
the design of tools, jigs, moulds and dies involving new technology;

(iii)
the design, construction and operation of a pilot plant that is not of a scale economically feasible for commercial production; and

(iv)
the design, construction and testing of a chosen alternative for new or improved materials, devices, products, processes, systems or services.

1.16
R&D requirements –
(a)
Expenditure on research should be written off in the year of expenditure through the income statement.
(b)
Expenditure on research should be written off in the year of expenditure except when the enterprise can demonstrate all of the following:
(i)
the technical feasibility of completing the intangible asset

(ii)
its intention to complete the intangible asset and use or sell it

(iii)
its ability to use or sell the intangible asset

(iv)
how the intangible asset will generate probable future economic benefits
(v)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(vi)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.

1.17
Positive goodwill –
(a)
Initial recognition – positive goodwill will be recognised as a non-current asset at cost.
(b)
Subsequent measurement – goodwill is carried at cost less accumulated impairment losses.
(c)
No amortization should be charged, must be tested annually impairment.
1.18
Negative goodwill –should be recognised immediately in the income statement.
II.
Examination Style Questions

Question 1

Sample Limited is a cosmetic manufacturing company. The Company incurred expenditure on many research and development activities for the years ended 30 September 1999 to improve the quality of product or to invent new products for sales.

	Project A:
	To research the recovery rate of skin on women at different ages.

	Project B:
	To develop new perfume. Sufficient progress has been made to find that the new perfume would be accepted by customers comparable to that of existing products.

	Project C:
	To carry out research of sensitivity of face on a particular cosmetic product as requested by a women organisation. The organisation. The organisation promised to reimburse all the costs incurred at a maximum contribution of HK$200,000.

	Project D:
	To study the improvement in a manufacturing process of an existing product in order to increase output and reduce wastage of this product. Sufficient progress has been made for the improvement so that the wastage will be reduced by 5%. Therefore the Company is going to apply the result derived to the manufacturing process of the existing product.


Costs incurred during the year ended 30 September 1999 were:

	Project
	A
	B
	C
	D

	
	HK$
	HK$
	HK$
	HK$

	Materials & wages
	230,000
	400,000
	180,000
	200,000

	Salary of R&D director (charged with time spent on each project)
	20,000
	30,000
	24,000
	20,000

	Depreciation on plant and machinery used specially for each project
	40,000
	50,000
	6,000
	14,000

	
	290,000
	480,000
	210,000
	234,000


Required:

(a)
State the accounting treatment of research costs in accordance with HKAS 38.


(2 marks)

(b)
State the accounting treatment of development costs in accordance with HKAS 38 including the accounting treatment of amortisation of development costs.



(5 marks)

(c)
State the criteria for recognition of development costs of a project as an asset in accordance with HKAS 38.
(6 marks)

(d)
Discuss the accounting treatment for each of the above projects in accordance with HKAS 38 and show the amount to be capitalised should you consider that the project should be recognised as an asset.
(12 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Financial Accounting II Dec 2000 Q1)

Question 2
(a)
Goodwill may be defined as the difference, positive or negative, between the value of a business as a whole and the aggregate of the fair value of its separable net assets.

Required:

(i)
Explain the recommended accounting treatments of positive goodwill under HKAS 38.
(4 marks)

(ii)
Explain “negative goodwill” and the related accounting treatment under HKFRS 3.
(6 marks)

(b)
H Limited acquires a 60% interest in A Limited. The purchase consideration is $8,000,000. An extract of the statement of financial position of A Limited stated at fair values on the date of acquisition is as follows:

	
	
	

	
	$’000
	$’000

	Non-current assets
	
	

	Plant and equipment
	
	3,000

	Current assets
	
	

	Inventories
	10,000
	

	Cash
	5,000
	

	
	
	15,000

	Current liabilities
	
	

	Trade payable
	
	9,600

	Net current assets
	
	5,400

	
	
	

	NET ASSETS
	
	8,400

	
	
	

	CAPITAL AND RESERVES
	
	

	Issued capital
	
	5,000

	Accumulated profits
	
	3,400

	
	
	8,400


Required:

Calculate the value of purchased goodwill for H Limited. Show your workings.



(2 marks)



(Total 12 marks)



(Amended HKAAT Paper 7 Financial Accounting II Dec 2000 Q4(b)(c))

Question 3
Skincare Limited, which is a research centre for cosmetics and perfumes, has a number of customers that are cosmetic and perfume manufacturers. The company incurred expenditure on various research and development projects for the year ended 30 September 2005:

	
	Project W100
	Project X200
	Project Y300
	Project Z400

	
	$
	$
	$
	$

	Materials
	208,000
	192,000
	160,000
	144,000

	Wages
	160,000
	448,000
	128,000
	176,000

	Salary of director of research department
	32,000
	48,000
	38,400
	32,000

	Depreciation
	48,000
	56,000
	6,400
	16,000

	Public utilities and cleaning expenses
	16,000
	24,000
	3,200
	6,400

	
	464,000
	768,000
	336,000
	374,400


Note (A): Salary of director of research department is allocated based on the time spent on each project.

Notes (B): The related plant and machinery is designed for the specific research and development project.

The purpose of the above projects are as follows:

(1)
Project W100:

This is a project aimed at finding new types of herbs to use in the skincare process.

(2)
Project X200:

This is a project studying a new device to be added to the manufacturing process for perfume in order to reduce the wastage and pollution emissions of the existing manufacturing process by 10%. Progress in this project is satisfactory and the response by perfume manufacturers during a recent demonstration was encouraging. Moreover, management of Skincare Limited considers that the company has sufficient technical resources to produce and market this new device. Therefore the company is going to sell the new device to perfume manufacturers in the coming accounting year.

(3)
Project Y300:

This is a project, which is outsourced by Beauty Limited, a cosmetic manufacturer, to research the recovery rate of skin at different ages using several specific beauty products. The contract between Skincare Limited and Beauty Limited for this project amounts to $300,000.

(4)
Project Z400:

This is a project for developing a new line of beauty products. Information obtained from market research finds that the new perfume will be accepted by customers. However, the budget for the production of this new line of beauty products has not yet been approved by the board of directors because the competition for this type of product is so keen that the profit margin may not be able to cover the related distribution and administrative expenses.

It is the accounting policy of Skincare Limited to group the research and development expenses written off under the heading of “other expenses”.

Required:

(a)
HKAS 38 “Intangible Assets” defines an intangible asset as “an identifiable non-monetary asset without physical substance”. Explain the following characteristics of an intangible asset:

(i)
identifiable;

(ii)
control; and

(iii)
future economic benefits.
(6 marks)

(b)
Provide two examples of research activities and explain the accounting treatment of research costs in accordance with HKAS 38 “Intangible Assets”.



(3 marks)

(c)
State the criteria for capitalizing costs of a development project in accordance with HKAS 38 “Intangible Assets”.
(6 marks)

(d)
Prepare the extracts from the income statement and statement of financial position for the year ended 30 September 2005 and discuss the accounting treatment, in accordance with HKAS 38 “Intangible Assets”, for each of the above projects. Show all workings.

(3.5 marks for the extracts of financial statements and 6.5 marks for the discussion, total 10 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting June 2006 Q.C4)

Question 4
Research Limited, a listed company which specializes in pharmaceutical drug research and development, has a financial year end of 30 June. The company owns a patent for a drug that has a remaining life of 10 years at the start of 1 July 2005. The registration of the patent was carried out and completed on 1 July 2005. The total fee for the registration of a legal right for the patent is $1 million which is composed of the registration fee of $0.7 million and the related legal fees of $0.3 million. A leading firm of specialist patent valuers has estimated the fair value of this patent to be $30 million at 1 July 2005 and the values given by Research Limited can be taken as being reliable measurements. There was no impairment to the patent for the year ended 30 June 2006.

The patent was acquired for the purpose of completing a research and development project. Up to 30 June 2006, costs incurred for the formulation, design, evaluation and final selection of possible alternatives for drugs were $3 million. The costs incurred for the design, construction and testing of pre-production for a chosen new product were $36 million up to 30 June 2006. These $36 million was composed of materials and services used or consumed of $20 million and the staff costs of $16 million in the development project. Research Limited capitalized $32 million of the development expenditure incurred. Research Limited is now awaiting the outcome of testing on human beings before putting this drug into production and starting its marketing plan. If the tests are successful, it is expected that the economic benefits from the drug will be estimated to be $32 million.

Required:

(a)
Provide the definition of an “intangible asset” and explain its three distinct characteristics of identifiability, control and future economic benefits.
(5 marks)

(b)
Explain the recognition and measurement of the following items in the financial statements of Research Limited for the year ended 30 June 2006:

(i)
the patent;
(6 marks)

(ii)
the research expenditure; and
(5 marks)

(iii)
the development expenditure.
(9 marks)

(Your answers should be in line with the requirements of HKAS 38 “Intangible Assets”.)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting December 2006 Q.C1)

Question 5
Blue Limited, a public listed company, has been considering the accounting treatment of its intangible assets. The director of Blue Limited has asked your opinion on how the matters below, according to HKAS 38 “Intangible Assets”, should be treated in its financial statements for the year to 30 June 2007.

(1)
Development of a new drug:

By February 2007, Blue Limited had developed and patented a new drug which has been approved for clinical use. The costs of developing the drug were $10 million and sales of the new drug have started in March 2007. Based on assessment of its market demand and sales success in some targeted markets, a reputable valuer, Brand & Associates, has estimated its market value at $16 million.

(2)
Staff training costs:

During the year ended 30 June 2007, Blue Limited has spent $3 million, sending its staff on specialist training courses. Whiles these courses have been expensive, they have led to a marked improvement in production quality and the staff now need less supervision. This in turn has led to an increase in revenue and cost reductions. The directors of Blue Limited believe these benefits will continue for at least three years and wish to treat the training costs as an asset.

Required:

According to the requirements of HKAS 38 “Intangible Assets”, explain how the directors of Blue Limited should recognize and measure the following items in the financial statements for the year to 30 June 2007.

(a)
Development of a new drug; and
(15 marks)

(b)
Staff training costs.
(10 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting December 2007 Q.C4)

Question 6
Scientific Limited, a listed company which engaged in pharmaceutical drug research and development, has a financial year end for the year to 31 December. On 1 January 2004, the company acquired a patent for a certain special device and it was estimated that the patent had a remaining economic life of nine years at the start of 1 January 2004. The patent was acquired for the purpose of completing a project for developing a new product and the project had started on 1 January 2003.
	
	
	$

	Purchase price
	
	6,000,000

	Fees paid to Intellectual Property Department
	
	2,000

	Assignment and other related legal fees
	
	100,000

	
	
	6,102,000


The following information is also relevant:

(1)
By the end of year to 31 December 2007, Scientific Limited obtained the outcome of testing the new product on human beings and the outcome is favourable.

(2)
It is the policy of Scientific Limited that an intangible asset to be carried at a valued amount and to amortise all its intangible assets on a straight-line basis based on the estimated economic life.

(3)
At 1 January 2005, a leading firm of specialist patent valuer had estimated that the patent should be revalued upward by $2,500,000.

(4)
At 31 December 2007, an impairment test had been carried out by the company and it was estimated that the patent would be impaired by $500,000.

Required:

(a)
Paragraph 18 of HKAS 38 “Intangible Assets” states that “the recognition of an item as an intangible asset requires an entity to demonstrate that the item meets the definition of an intangible asset and the recognition criteria”. State the definition of an “intangible asset” and the recognition criteria of an intangible asset.
(5 marks)

(b)
Calculate the amount to be included in the items of “patent” that would appear in the statement of financial position of Scientific Limited as at 31 December 2007. Provide explanations for your calculations.

(Allocation of marks: 6 marks for computation of the amount and 14 marks for explanations for the calculations)
(20 marks)

(Your answer should be in line with the requirements of HKAS 38 “Intangible Assets” and HKAS 36 “Impairment of Assets”.)


(Total 25 marks)


(HKIAAT Paper 7 Advanced Accounting June 2008 C1)
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